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#9
Assignment #5

DUE:  October 22
30 points
You may work in teams of two, if you wish.

Classic Clothing Company makes black suits and dresses.  Each week, 160 yards of fabric is delivered.  Each suit takes 10 yards and each dress takes 4 yards.  The weekly labor is 300 hours, with a suit requiring 10 hours and a dress requiring 20.  There is 20 square feet of rack space to store the suits and dresses.  Each suit costs $200 to make and sells for $300.  Each dress costs $100 to make and sells for $250.  The store would like to know the number of suits and dresses they need to make and sell in order to maximize their weekly profit.

(1)  Create the linear programming model.  Add the additional step of transforming the constraints into equations.  (Show this additional step on the same page as your linear programming model.)
(2)  Solve this problem with STORM.  (Attach the tableaus to your memo.)
(3)  Solve this problem with SIMPLEX.  (Attach the printout to your memo.)
Report each of the following, clearly, in separate paragraphs.  (Each one is a separate scenario.)  As always, use wording the client can relate to and understand.

(4)  The optimal solution.

(5)  Any slack/surplus values.

(6)  Any shadow price(s).

(7)  The complete fabric shipment is not expected to arrive next week.  Classic Clothing will have only 50 yards of fabric.  Explain the complete effect this will have.
(8)  Classic Clothing is thinking about increasing the total hours of labor to 500 in order to prepare for the holidays.  Explain the complete effect this will have.
(9)  The profit on the dresses has decreased to $130.  Explain the complete effect this will have.
(10)  Classic Clothing may have to move their operations and, as a result, rack space will decrease.  At what point will the decrease cause the company to no longer make suits?
The Simplex method
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Simplex Tableau for this Model

2nd Iteration

	
	
	
	
	
	

	Cj
	Basic

Variables
	Quantity

(RHS)
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	Zj
	
	
	
	
	
	

	
	Cj - Zj
	
	
	
	
	


Simplex Tableau for this Model
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